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Section -1
GENERAL AWARENESS

In NITI Aayog, NITI stands for

(a} National Institution for Transforming India
(b) National Information & Technology Institute
{(c) National Institution for Technical Information
{d) New Institution for Transforming India

In the 2015 Indien Premier League (IPL) which of the following players played for
which of the following teams ?

Players Name Name of Teams

a Angelo Mathews 1 Delhi Daredevils
b.  Dinesh Karthik 2. Royal Challengers Bangalore
c. M. Vijay 3 Kings XI Punjab
d.  Irfan Pathan 4.  Chennai Super Kings

a b + d
(a) 1 2 3 4
(by 1 4 2 3
{c) 3 4 2 1
d 4 3 2 1

Money deposited at a bank that cannot be withdrawn for a preset fixed period of time is
known as

(a) Current Deposit (b) Savings Bank Deposit
(¢) Term Deposit (d) No Frills Account
Ways and Means is the load of Advances provided by the RBI to

(a) Central Government (b) Banks

f¢) State Government (d} NABARD

Which of the following Union Government taxes gives the highest annual yield ?
{(a) Custom duties

(b) Excise duties

(¢) Corporation tax and Income tax

(d) Wealth tax, Interest tax and Gift tax

Which of the following is associated with Panchayati Raj ?
(a) Shah Commission (b) Nanavati Commission
(¢) Balwant Rai Committee {(d) Liberhan Commission .

Which of the following protects personal freedom ?
(a) Quo-Warranto (b}  Mandamus
{c) Habeas Corpus {dy Certiorari
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| 1. Fife s F N1 iR & awed §

| (a) ST TR I ZRAhiter Sftear
(b) ST FHEE WE S SRR
(©) I FEEYE W Y TR
(d) = TR B gt e

2. 2015 sfvess vifeeR #ir (IPL) ¥ Frefefiaa feenfeat 5 & st frm da & foaer o

Teemdt wr=mr Fmwram
a. Ut deger 1. et Tadlaew
b, T e 2. et seie ST
c. AT 3. e X dee
d TWEH R=H 4. 9% qu g
a b c d
@ 1 2 3 4
b 1 4 2 3
ey 3 4 2 1
(d) 4 3 2 1

3. e o o veew, Pt g Pt Tty S of omfe W e o weAr E e

(a) =S (b) &= s T
(c) =T A (d) T wwoE =51 @
. 4, 3™ US gl RBI % 5R1 weH T o it wr ae i

(a) = TSR % fomr (h) =i % fam

(c) T &R & faw (d) NABARD % fow
5. T ddm wen % w1 § 9 9 w9 veen A e e i o

(a) W Yo (b) ! IR

(c) TIIRIF T a4 ATHT (d) 9 H, T YT IR HC
6. Treffes § 4 fras dey damdt v S 0

(a) wE FHTE (b) AFEE FHEA

(¢) =eEEaTE i (d) foeem sdwm

7. g @ v st s w5 e s o

(2) e geaT (FErarzh) (b) TR (HEmE)
(c) et Hrgudtar (el ) (dy wEEE
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8. Whatis “Zero Hour’ 7
(a) When the proposals of the opposition are considered. |
{b) When matters of utmost importance are raised. |
{¢) Interval between the merning and afternoon sessions.
(d) When a Money Bill is introduced in the Lok Sabha, :

9. Who among the following decides whether particular bill is a Money Bill or not 7 |

(a) President (b) Speaker of Lok Sabha i
(¢} Chairman of Rajya Sabha {(d) Finance Minister
10. The Mansabdari system was introduced hy
(a) Akbar (b) Shah Jahan
(¢) Jahangir (d) Babar

11. Which was the aticient port of Indus Civilization ?
(a) Harappa (b) Lothal
(¢) Dholavira (d) Surkotada

12. Give the correct chronological order o
1. Communal Award |
2. Simon Commission
3.  First Round Table Conference
4.  Gandhi-Irwin Pact
(@ 1,2,3,4 (b} 2,

1,3, 4
) 2,3,1,4 (d) 2,341
13. India liberated Goa from the Portuguese in
(a) 1948 (b) 1965
c) 1961 (d) 1960

14. One Astronomical Unit is the average distance between

(a) Earth and the Sun (b) Earth and the Moon
(c) Jupiter and the Sun (d) Pluto and the Sun
% i
15. Among the following which planet takes maximum time for one revolution around the
Sun ?
(a) Earth (b) Tupiter
(¢) Mars (d) Venus

16. Who won the French Open 2015 Men's Single title ?
{a) Novak Djokovic (b} Stan Wawrinka
() Roger Federer {d} Andy Murray

A 4 JDD-8/LDC/X-15




10.

11.

12.

- 13

14.

15.

16.

T I T E 0

(a) =18 ooy = weoaf W iEemEm e |

(b) e Wi T o fawdT ®f FEET ST |
(c) WA T SR w3l 5 w6 w7 S
(d) <= s WA o i e fea s

T T o e A Am A g e s b 0

(a) regefa (b) i | s
(¢) =9 |1 o T (d) o o=
HAEEER! WeT feh 5T TR Fr U o ¢

(a) 1T (b) YmE=ED

(¢) VEFT (d) =T

T T 67 W =TS w2

(a) FZum (b) T

(c) HiETET (d) TEHEREEl

e s S

1. e e

2. TEET W

1. W TEAES geee

4. TR gEEtEr

(@) 1.2.3.4 B 21,34
© 2.3.1,4 (d 2,3,4,1
TRA A YETTAdT & T e FET A

(@) 19487 (b) 1965%

() 19617 (dy 1960

T WA 3T A o s st of et v

@ wpmrg (b) et T =
() gt e g (d) R w3
Fefefian & & S a1 7 T 31 0 i w1 H sy wnE s E o
(a) A (b) wEwT

(o) T d)y IF

T T 2015 1 TOT Ut faae e S 2

(a) T AElEE (b) T Sl
(c) TR % (d) ugtm
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17. If you go to Tuticorin, Paradip, Kandla and Mangalore, you won't have to go through
(a) Tamil Nadu (b) Odisha
(¢} Gujarat {(d) Kerala

18. ‘KISAN TV' was announced in the budget
{a) 2014-15 {by 2013-14
(c) 2012-13 (d 2011-12

19, The type of soil spread over large areas in the Northern Plains of India is
(a) Redsoil (b} Black soil
() Laterite soil (d) Alluvial soil

20. Which of the following is a semiconductor ?
{ay Phosphorus (b} Wood
(¢} Silicon {dy Glass

21, Which of the following is the most fundamental difference berween Mahayana Buddhism
and Hinyana Buddhism ?

{a) Casteless Society (b) Worship of Stupa
(c) Worship of Gods and Goddesses (d) Emphasis on Ahimsa

22. Assertion (A) : Sucrose is sweet in faste.
Reason {R) : Sucrose is converted by the enzyme invertase present in living systems to
glucose and fructose.
{a) Both(A) and (R) are correct and (R) is the correct explanation of (A). L
(b) Both (A) and (R) are incorrect.
(¢) (A)is correct and (R) is incorrect.
(d) Both (A) and (R) are correct and (R) is not the correct explanation of (A).

i
-|

1% |
3 I
|

23. Match the following :

Process Changes
a. Evaporation . Liquid inte gas
% b. Sublimation 2. Gas into liguid
c. Freezing 3. Solid into gas
d. Melting 4. Solid into liquid
5. Liquid into solid
a b ¢ d
@ 1 2 5 4 .
by 3 1 2 4
{c) 3 1 5 4
@1 3 35 4
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17. I a7 gefveifc, m,mwﬁﬂ?mﬁiﬁm%ﬁﬁﬁaﬂwﬁw;

(a) afeTg (b) afEwm
(c) TeHmE (d) e
18. frw svre o Feum St # wiwor = € o o
(a) 2014-15 (b) 2013-14
(€) 2012-13 (d 2011-12
19. % & I AgH ¥ gea & ° W gwr &
(a) o T (b) ST TET
(c) e gE (d) =TeiE gar
20, T H % 9 uF sk 0
(a) WERRY (b) ¥r=
(c) Taferr d) =
21, ﬁ%ﬂ#%mwﬁﬁﬂhwmﬁazﬁ?ﬂ:ﬁa?ﬁﬁmwmh
(a) “IERERR TamT (b) =@ T '
(c) 9 v 3fdl #t e (d) afEmr o as

22. TUR(A): GEN EE T S A |
m(R}:W,%Wﬁ%ﬁﬁ%ﬁ%%m@awmﬁ
YA & T E | _
(@) (A)Tr (R) ST Wt & 791 (R), (A) =7 96 wedima & |
(b) (A) T (R) 3 o & |
(c) (A)WEE, 3% (R) ™ & | |
(d) (A)Tr (R) 3 W6 E 791 (R), (A) 1 T ordimeor o &

23. e =t whfem Fifae
wiewar affads
a, A 1. saw e+
b. A 2, TMEzaH
c. [ 3. IMHEIGH
d. TR 4, IWMHFETAH
5. sAwamy
a b ¢ d
(a) 1 2 5 4
3 12 a8
© 3 1 5 4
(d) 1 3 5 4
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24, Chemically, dry ice is
(a) ice formed from pure distilled water
(b)  solid carbon dioxide
(¢) solid sulphur dioxide
(d) ice kept at sub-zero temperatures

25. Average Life span of Human RBC is
(a) 3—4days (b) 120 days
{¢) 12 days (d) Never die

26. Red light is used in traffic signal for stopping the traffic because
(a) Itis visible even to longsighted people. -
() Eye is more sensitive to red light. |
(¢) Ttisleast scattered and hence can be easily noticed from long distarice,
(d) Itis very pleasant to the eye.

27. Cooking gas is a mixture of
(a) carbon monoxide and carbon dioxide
(b) butane and propane
(c) methane and ethylene
(d) carbon dioxide and oxygen

28. Which part of the plant is used as ‘saffron’ 7
{a) Sepals (b) Pelals
{c) Stamens (d) Style and Stigma

29, CPU performance is often measured in :
{ay GB by MHz

(c) MIPS {d) Baud rate

i 30. ‘Madhubani’ a style of folk paintings, is popular in which of the following States in India ?
(a) Uttar Pradesh {b) Rajasthan
(¢) Madhya Pradesh (d) Bihar

31. The Boko Haram, Islamist militant group is engaged in conflict with the government of
which of the following countries 7

(a) South Sudan (b) Eihiopia
(c) Nigeria (d} Sierra Leone

A 8 JDD-86/LDC/X-15
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24,

26,

27.

30.

31.

T o 9 T

(a) & I = W AE
(b) I FET TRHAEES

(c) oM UFH TeeieRes

(d) -3 99T O TE T

TTE FE 1o ST (RBC) ¥ e stamsme ¢
(a) 3-4%7 (b) 120%=T
© 12fF ' (d) =t =8f wedr

AIEVATT Bl T % T A S o T SR o S9EeT Fre s it
(a) WEyEESTEE FArH g

(b) it wer T % v i W& gl €

(c) € W T FH WO SN & I AWEr A et g w R ot gfew 6 v &
(d) = iTE = wEgE PERE ¥ |

I 19 O g ¢

(a) HIEA HFARFETET AT HEE SEsiETET
(b) =g #HiIT Wie

() e v uieti= =

(d) e SEATHRINS far SR

e W WG e & T o 3 e o ?

(a) SEEH . (b) vgE

(€) YHET (d) afee oo i
CPU 1 =5 e ur: o smer &

(a) GB (b MHz

fcy MIPS {d) Baud rate

“HEeAY, e Feree T e delt, et @ e S e o o w0
(@) T WEH (b) TEH
(c) FHWH (@) R

A B TS SuARl 56 e § o fe 391 o Teer % wm wad ° were & 0
{a) SR HSH (b sediwifien
{c) ESiREr (dy e dare
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32. Recently Union Government has launched Pradhan Mantri Suraksha Bima Yojana, What |
is the amount of premium per annum for this scheme 7

fa) T12 (by T330
(cy T 120 (dy *320

33. Ecology deals with
(a) Birds
(b) Cell formation
(¢} Relation between organisms and their environment
(d) Tissues

34. First International Yoga Day was celebrated on
{a) 18 June, 2015 (b 21 June, 2015
(c) 12 June, 2015 (d) 26 June, 2015

35. Which one of the following countries won the 2014 FIFA World Cup ?
{a) Netherlands {b) Argentina
{c) Brazil (d) Germany

36. The first Field Marshal of India was
{a) Vaidya (by K.M. Cariappa
{c) Sunderji (d} S8.H.F.I Manekshaw

37, First woman Chairperson of SBL
{a) Arundhati Bhattacharva
(b) Kamilini Bhattacharya
{c) Aruna Bhattacharya
(d) Seetha Bhattacharva

38, Which is the highest civilian award of India ?

(a) Veer Chakra (b) Bharat Bhushan
{¢c) Padmashri {d) Bharat Ratna
39. On which date Telangana is established as the 29™ State of the Indian Union 7
fa) 1% May, 2014 (b) 2™ June, 2014
(cy 15" April, 2014 (d) 22™ June, 2014

4. What is full form of PDF ?
(a) Printed Document Format .
(b) Public Document Format
(c) Portable Document Format
(d) Published Document Format

A 10 JDD-8WLDC/X-L5




32,

33

5.

7.

39.

T TR A O € T W S g i e e it nwmﬂ?mnﬁra&;ﬁﬁwaﬂ
f

(@ 12 (by ¥330
(c) T120 (d) %320
uf T = s

(a) ladi & fawg |

(by  iferr fFmior % faeg |
(c) i 7T 3% TER % S 9Eyl ¥ muw g

(d) o &

o FEe G e wEe T

(a) 18 T, 2015 (b) 21 5, 2015
(c) 12%M, 2015 (d) 26, 2015
frretefaer = @ P 291 = 2014 FIFA fawa = sfiar 7

(a) HieTeiew (b) SRR

(c) i @

VI & TEr Wi WIYie o

(a) (b) S, HtsT
(c) I () THITEES, HAB
SBI %7 ww Aigw dew

(a) Al WETEE

(b) e HgTemd

(c)  om wETEE

(d) e sz

HIRE T AT AN FIE -

(a) TXTH (b) WG qwor

(c) it (d) TRT T

e TR <t AT it T AR W9 % 208 T S A g 0
{ay 1% 2014 (b) 25,2014

(c) 153w, 2014 (dy 22,2014
PDF &1 07 3R 17 ¢ 7

(a) Tiesshade wide .
(b) e Sz T

(¢) viiww Sz witiz

(d) vfteEE Shgrz FwiFe

JDD-36/LDCK-15 11 A



Section = I1
GENERAL INTELLIGENCE AND REASONING ABILITY

Direction {Q, Nos. 41 to 45) : Read the information given below and answer the questions

41,

47.

that follow. ;
(i}  Aurbindo, Bubblo, Chitranjan, Drwarka, Enjalina and Farooq are six students in a
class. )

(ii) Bubblo and Chitranjan are shorter than Faroog but heavier than Aurbindo.
(iii) Dwarka is heavier than Bubblo and taller than Chitranjan.

(iv) Enjalina is shorter than Dwarka but taller than Faroog.

(v) Farooq is heavier than Dwarka.

{vi) Aurbindo is shorter than Enjalina but taller than Faroog.

Who among them is the tallest ?

{a} Aurbindo {(b) Bubblo

(c) Dwarka {d) Enjalina

Who is third from the top when they are arranged in descending order of their heights 7
{a) Aurbindo (b) Bubblo

{(¢) Chitranjan {d) Enjalina

Which of the following groups of friends is shorter than Aurbindo ?
(a) . Bubblo, Chitranjan only {b) Dwarka, Bubblo, Chtranjan only
(¢} Enjalina, Bubblo, Chitranjan only  {d) Faroog, Bubblo, Chitranjan only

Who among them is the lightest 7
(a) Anrbindo (b) Bubblo or Chitranjan
(c) Chitranjan (d) Data inadequate

Which of the following statements is true for Farooq as regards to height and weight ?
{a) He is lighter than Enjalina and taller than Enjalina. :

(b) He is heavier than Bubblo and taller than Enjalina.

{c) He is heavier than Bubblo and Chitranjan but shorter than Dwarka.

(d} Heis lighter than Enjalina and also shorter than Enjalina.

Mathemarics is telated tu Numbers in the same way as History is related to
(a) People (k) Events
(c) Dates (d) Wars

Mirror is related to Reflection in the same way as Water is related to
(a) Conduction (b) Dispersion
(c) Immersion (i) Refraction

12 JO-B8/ LMY X-15
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WA= GREAT Fe AT T

feEw @, o 41 W 4s) : = S T QI F OB S IHE SR R T T 3 g9 T

41.

42,

47.

() R, T, e, TR, TS e e U e A v et
(i) et it TR TeE R R B € v R A ema A Wl E
(i) Er g9 H FEe @ 97 A Al W e g |

(iv) Tl GRET A T 4 ot &, g wesr A /e T

(v] m,-mﬂamﬁnﬁ%|

(vi) e, ol § o d B ¥, W SR Y e |

= X T T w7

(a) Al (b ==l

(c) B (@) T

WS PR Y WA d s fn e e

{a) arfE=l by FE

) i (d) EEEr

e e i e e S e A SR g e & 0

(a) aw gEw, Temiom (b) FEA T, A, T
() e Ui, St Tt (d) A HEE, Eel, faae
T R S

(a) @EET _ (b) = ar faeier

() FaaEw (d) <=1 arara

s s heia it fa o e e Sa s e S hwe fwd b
(a) % ST § W0 59T W AT User § i

(b) TETTA W T T IAF I TR R FAE |

(c) oF oA H suwt AR e © sk feg e A T &
(d) o G § e A ey | o Ul | Bl |

T T WA Gy T A ¥ N e aee

(a) =T H ? (b) HeATsH &

€) TREd ) &4

FHoTE Ry T I A O e et & -
(a) TERE (b) Taeigor =

(c) T ® (d) e
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Direction : Select the related number/letters from the given alternatives.
48. 25:125::36: 7

(a) 180 (b)y 206
{c) 216 (d) 318
49, 9:80::100:7
{ay 901 (by 1009
{c) 988Y (dy 9999
50. CAT:DDY::BIG:?
{a) CLL (b) CLM
{(¢) CML (d)y CEP
51. KMF:LLH::RMS:?7
(a) SLR {by SLU
{e) SSU (dy SUS
Directions : Choose the group of letters which is different from others.
52. (@) CZHK (b} MLAG |
ey XUBU (d) SENO
53. (a) CFIL (by PSVX
(cy JMPS (dy ORUX

Directions : In each of the following letter series, some of the letters are missing, which are
given in that order as one of the alternatives below it. Choose the correct alternatives.

M. be_b_ ¢ b_. &b

(a) cheb (b) bbcb
{c) chbhe (dy behe
55. ma__ab____aaa__a
{a) aaab : ()  aabb
{c) abab {d) baaa
56. Inacode, CORNER is written as GSVRIV. How can CENTRAL be written in that code 7
{a) DFOUSBM (b) GIRXVEP
(c) GNFIKER {dy None of thesc
57. IfGIVEis coded as 5137 and BAT is coded as 924, how is GATE coded ?
(a) 5427 (by 5724
(cy 5247 : (d)y 2547

58, If sky is called sea, seq is called water, water is called air, air is called clond and clopd is
called river, then what do we drink when thristy 7
{(a) Sky (by Air
{c) Water (d) Sea

A 14 JDD-8GLDCIX-15



T : Fow " oot o | Wt TEmawrd w5 9w SR |
48. 25:125::36: %

faj 180 (b} 206

@ 216 (d 318
49, 9:80::100:7

(ay 501 (by 10080

(c) GBED (d)y 9999
50. CAT:DDY ::BIG:?

(@ CLL ) CLM

(c) CML (d CEP
51. KMF:LLH::RMS:?

(a) SLR M) SLU

{c) SSU (d) SUS
W « sl % 3 wE W w=E S S S d sema |
52. (1) CZHK (b) MLAG

(c) XUBU (d}y SENO
§3. (a) CFIL (b) PSVX

(c} JMPS (dy ORUX

o : et oo =pot dioft o o =0t gz o &, 5 = v & e v & o B it o et
g ur At | W faoeu 7 999 ST |

54. be_b_c¢c__b__cch

(a) cbeb {h) bbch
(¢) chhe {d) beche
55. aa__ab___ ama__a
(a) aaah {(b) aabb
{c) abab {d) baaa
56. fwdl g2 ¥ CORNER % GSVRIV fomr mr & | 3ot 52 § CENTRAL %t feg e foman
T 7 :
(a) DFOUSBM (b) GIRXVEP
(c) GNFIKER _ () &Y wE T
57. @ GIVE®! 51379 9 BAT % 924 ¥ iz o 71 €1, &t GATE %7 5= w1 8711 ?
(a) 5427 (b) 5724 '
(¢) 5247 (d) 2547 .

S58. AR el G R S, GERE o SRl N, 7B @, T w91 ST a7
el S, o &9 1 N6 7 50 | a7
(a) T (b) =7
(c) e (d) T
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9. If ‘stf nro ki’ stands for ‘clouds pour down', ‘nro bsi mit’ stands for ‘down he poes” and
‘bsi nro 7pi’ stands for ‘died down he’, which word would mean ‘goes’ ?

(a) nro (b} mit
(¢) ki (d) bsi
60. Pointing to a photograph, Vipul said, “She is the daughter of my grandfather’s only son.”
How is Vipul related to the girl in the photograph ? 1
{a) Father (b) Brother
{c) Cousin (d) Mone of these

Directions (Q. Nos. 61 to 65) : Read the following information and answer the questions
based on it :

In a school, there were five teachers. A and B were teaching Hindi and English. C and B

were teaching English and Geography. D and A were teaching Mathematics and Hindi. E and
B were teaching History and French.

61. Who among the teachers was teaching maximum number of subjects ?

(@) A (b) B
() C (d D
62. Which of the following pairs was teaching both Geography and Hindi ?
(a) AandB (b) BandC
{fc) Cand A {d) None of these
63. More than two teachers were teaching which subject 7
(a) History (b} Hindi
(c) French (d) Geography
6d. D, B and A were teaching which of the following subjects ?
(a) English only {b) Hindi and English
(¢) Hindi only (d) English and Geography
65. Who among the teachers was teaching less than tw:'n subjects ?
(@) A (by B
c) D {(d) There is no such teacher.

Directions (Q. Nos. 66 & 67) : Read the following information carefully and answer the
guestions that follow :

A, B, C, D, E and F are seated in a circle facing the centre. D is between F and B. A is
second to the left of D and second to the right of E.

66. Whois facing A ?

(a) B (b) D

) F (d) Either For B .
67. Who among the following is facing D 7

(@) A by C

c) E (d) None of these

A 16 JOD-86/LDCIX-15




59,

60.

AL ‘sti nro ki 1 9T ‘clouds pour down’ B ‘nre bsi mit' 1 ST ‘down he goes’ &
3T ‘Bsi nro zpi’ T AT “died down he’ #, T B I ‘goes’ Ft =55 T4 7

{a) mro () it

{c) ki (d) st

wﬁﬁwﬁaﬂréﬁmmﬁwﬁw#ﬂm*wﬁ%wﬁ?mﬁgﬁﬁﬁ%l”ﬁ'ﬁ'ﬂ?
HIZITT AT EE W e W He &

(a) foer (b) M

(¢) T W (d) w9 B T

o (W 61 ¥ 65) Frrerferfise e = wfw it =3 W e vedt 3 g ST |

Uk WA 5 TS e g | A fer B R i st v | C = B &2 3T et wae o |

D 7 A fiivre 3 Bt vgw 4 | Ever B fhem w w4

61.

62.

64.

65.

Temrent ® 2 ®i7 Ao faaei = vewer o 2

a) A (hy B

() C _ dy D

fereferfiaes siel & < 5 yiter sfte fst < e a7 o

(a) ATHB ib) BETC

() CamA ) T A &g

31 2rfen e i fav veE & 0

(a) Ehwm by Tt

(c) Y (d) =

D, B 3T A Frfafiaa 4 € = o1 faog e 4 2

(a)  =heEer Fe by =T s S

(c) e e (d) ST e
Fererept # & i 2t & % forert 6 v & ] |
fa) A by B

) D (d) = e e e R

Fader: (1 66 7 67) ot T ot eI oy T srrERE e ¥ s |

AB,C. D, G Fu% 90 ¥ iaqe 42 & 1 D, F aiv B Fdim & | A, D & a1 o qat

I W ¥ AT E F O e S gi e Wk |
66. A% HIpE EFE?

(a) B (b) D

@) F (d) FIIBHEYGFT4 )
67. FrafalE § FF9 D% oogE ¥ 0

(a) A () C

© E (d) T & =i
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68.

Direction : Choose the one which is different from the rest.

69.

70.

71,

T2,

73.

74.

Onme day, Ravi left home and cycled 10 km southwards, turned right and cycled 5 km and
turned right and cycled 10 km and turned left and cycled 10 km. How many kilometres
will he have to cycle to reach his home straight ?

{a) 1Wkm (b) 15km
() 20km (d) 25km

(a) 7359 (b) 1593
(c} 9175 (@ 3781
(a) 382 (b) 326

(c} 914 (d) 263
Choose the odd numeral pair/group.

(a) 61-73 (b) 57-69
(c) 29-42 (d) 47-59

Find which one word cannot be made from the letters of the given word :
SUPERIMPOSABLE

(a) SPIRE {(by REPTILE

(c) POSSIBLE {d) REPOSURE

In a class of 60, where girls are twice that of boys, Komal ranked seventeenth from the
top. If there are 9 girls ahead of Komal, how many boys are after him in rank ?
(a) 3 by 7

ey 12 (dy 23

In the question below are given two statements followed by two conclusions numbered [
and II. You have to take the given two statements o be true even if they seem to be at
variance from commeonly known facts. Read the conclusions and then decide which of
the given conclusions logically follows from the two given statements, disregarding
commonly known facts.

Statements : All flowers are stems.
All stems are roots.

Conclusions ; 1. All roots are flowers.
II. All stems are flowers.

(a) Omly conclusion I follows.

(b) Omly conclusion IT follows., L

(c) Either I or II follows.

(d) Neither I nor II follows.

18 JDD-B6/LDC/X-15



68. U e o wr @ Fraen ot sher w10 T Owiee SeE, =i gE s s fed ke
=T ST 3 gE 3 10 FE oElee seE ol ad g oft 10 Tt wRhes 9e g | 3w e
B W AW UgeH o Tong i TeRelHieT SEiee Ser & 7
(a) 10 fFrt (b) 15 FEet
(e) 20%h () 25Tt

forder : 39 wH W S R f A

69. (a) 7359 | M) 1593

() 9175 (@ 3781
70. (a) 382 by 326
©) 914 ) 263

71. TR S T = wE S |
(a) 61-73 (b) 57-69
(c) 29-42 () 47-59

72. Townw v % Sl | W W U O SET TR S S 2

SUPERIMPOSABLE
(a) SPIRE (b) REPTILE
(¢} POSSIBLE (d REPOSURE

73. 60 W UF FA A W wEiwA, AEH § % T E FEer T v | 179 9w e Al
T2t 9T 9wl Se | o E, e e e sw A E
(a) 3 b 7
(c) 12 (d} 23

74, et % weT ® 9w fw o € aer o feed [ 10 argeie € | e o S el @ W
O ST & T & e wm A | e v o Feet oo el e e Tfem
W%ﬁ!ﬂqﬁﬁﬁﬁ#aﬁqmaﬁmmﬁmﬁquﬁmﬁﬁﬁm% W= T
A T HAEEA FA 5 |

T : W YA E
A TEE |
s 1, s SEgmE
I FHTATHE |
(a) T T | S ENT § | .

(b) et Fred 11 R &
(c) Tari=g «r amgaie & |
(d) AAITE M FAENTE |
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75. Arrange the following in a meaningful sequence :

1 Consultation
2. Ilness

3.  Doctor

4.  Treatment

5. Recovery
{a) 2,3,1,4,5
e 431,25

(b)
{d)

2,3.4,1,5
5,1,4,3,2

76. Choose the correct alternative that will continue the same pattern and fill in the blank

Spaces.

05, 115.5, 138, (.....), 188G
(a) 154.5

() 164.5

77. Find out the wrong term.
125, 126, 124, 127, 123, 129
@ 126
(cy 123

78. Choose out the odd one.
(@) Venus

{c) Sun

(b
(d)

(b)
(d)

(b)
(d)

162.5
166.5

124
129

Saturn
Mercury

Direction : Choose the pair in which the words are differently related.

79, (a) Bottle: Wine
{c) Pitcher : Water

8. (2) Broad: Wide
{¢) Tiny: Small

(b)
(d)

(b)
(d)
20

Cup : Tea
Ball : Bat

Light : Heavy
Big: Large

JDD-B/LDCIX-15
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75. Tr=fefas @ sniqul s A eafes St .

1, T

2. ST

3. fafses

4,  IMEW

5. TEEE

(a) 2.3,1,4,5 b 2.3.4,1,5
€} 4,3,1,2,5 (dy 5.1,4,3,2

76. 39 Wl T H gl St fw e Ge & A € e e e ofi st

95,1155, 138, (.....), 189
(a) 154.5 (b)
(c) 164.5 (d)

77. ST Y 90T T |
125, 126, 124, 127,123, 129
(a) 126 (b
(c) 123 (d)

78, T Ht S EE |

(a) T (b)
© ¥ (d)

Pl : S W 7 o PTG R e R |

79, (a) ST :ERA (b)
(¢) Freer: e (d)
80, (a) WiE:AEET (b)
(c) e : Wi (d)
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81.

83.

86.

Section - TIT
ARITHMETICAL AND NUMERICAL ABILITY

In a certain Cricket match Sachin, Saurav and Rahul together scored 163 runs. Saurav
and Rahul together scored 4 runs more than twice Sachin’s score. How many runs did
Saurav score 7

(a) 33 (b) 33
) T (d) Cannot be determined

A cat chases a rat, For every 5 leaps of the rat, the cat takes 3 leaps, but 2 leaps of the cat
are the same as 3 leaps of the rat. Compare the speeds of the cat and the rat.

(a) 4:5 ty 12:13
(c) 16:15 {d) None of these

Two numbers are in the ratio of 5 : 6. If their HCF is 11, then what is their LCM ?
(a) 320 (220
(c) 330 (d) None of these

92 + 102 +11%2+ ... +20%2 =79

9(10) (19)
(a) 6

(B) (9+10+11+... 42007
(€) (0x41)—(12%17)
(d) (Tx4l)-{6x17)

What is the remainder when 71487 is divided by 172 7
(@) 170 ®) 171
) 172 (d) None of these

Hpt=g'=1 andpiqr= 1, &]+&]+G} is equal to

3 R’
@ 3 ® T

2 2
© 3 @ =

3 i

Bind i valoe of %L, ifa:%and ah= 1
(a) 5832 (b) 729
© 1458 @ 2916
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81.

82,

83,

86.

87.

wve - Il
ST W TR T

T e Aw F wfew, Wi R age A Pt 163 T w1 w6 e | 9 2 e 3
frreret, wfes & TR % g # 4 O s et e | dive A oo e = we o 2

(a) 53 (b) 33

€ 77 (d) Tl = fFr = g

ﬁﬁﬁwq&ﬂﬁmﬁﬁ%l@ﬂmswﬁﬁ?mﬁﬁﬁ?@ﬁﬁmﬁﬁ?@
%ﬁﬁz%ﬁq&ﬁrawﬁﬁ#m%ﬁﬁﬁmq&aﬁﬁaﬁqmﬂﬁﬂm

{a) 4:3 by 12:13

(€) 16:15 (d) W FE T

< HEE 1 51 6 ¥ | I S AT, 11 #, T T, e

(@) 320 {b) 220
(cy 330 (d) T QT
L1002 +112 4., +202=7
9(L0) (19)
{a) 3

() @+ 10+11+... +2072
(€) (T0x413—(12x17
(dy (Fx4D-(6x17)

= 71287 5y 172 9 A fem = 9t == v w2

(a) 170 b 171
) 172 (d)y T & TH
K pr =g == d plgr = I,T‘I:FG)+ &l‘J + GJETIET%
3 -1
(@ 3 L)
> _
© 3 @ ?2
i
g%}ﬂ-a;rmﬂraaﬂmzﬁa:%sﬂmhﬂ k
{a) 5832 by 729
(c) 1458 (d)y 2916
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88. In an examination Amar got 8% less than the pass mark and Mohan got 20% more from
the pass mark. If the difference between the percentages of their marks is 14, then what is

the pass percentage 7
(@) 40% (B 50%
(c) 60% (d) Cannot be determined

89. Ajit gave a discount of 20% and his profit reduced from ¥ 200 to T 100. What is Ajit's

cost price ?
{a) T300 by T200
{c) T400 (d) None of these

90. Three equal instalments, each of ¥ 200, were paid at the end of each year on a sum
borrowed at 20% compound interest compounded annually. Find the sum.

{a) 600 (by T 400
() T421.30 (dy T432.10

91. The average age of six members of a family is 22 years. If the age of the youngest is
8 years, then find the average age of the family just before the birth of the voungest

number.
{(a) 17 years (b} 16.8 years
{c) 15.6 years (d) None of these

92. FEight kilograms of rice costing ¥ 16 per kg is mixed with four kilograms of rice costing
¥ 22 per kg. What is the average price of the mixture ?

(a} T18 (by Tl16
fc) T20 {d) None of these

93. 6 men earn as much as 8 women, 2 women eam as much as 3 boys, 4 boys earn as much
as 5 girls. If a girl earns ¥ 500 per day, then find the earnings of a man per day.

(a) ¥1,120 (b) 1,210
() 1,250 (d) None of these

94. A train, whose length is 130 m crosses a platform in 30 seconds while running at a speed
of 45 kmph. Find the length of the platform.

(a) 245m (b) 255m
fe) 265m (d) None of these
A 24 JDD-86/LDC/X-15
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88,

39,

91.

92.

93,

24.

Rt e T oTOT 30l A W 8% ®Y U & i viga oot o | 20% wifuw qar & 1 9
T EHT % e % W &7 ST 14 &, A ey uiEeR = ?

(a) 40% (b) S50%
(e} 60% (d) Freifta = fesar T G

st 3 20% 1 9 3t 2t TR T € 200 | T T 100 B T | ST A S &
L

(a) 300 (b} T 200
{c) T400 @) = wE T

vt o & aia 1 Rt SUW o 8 T 9T 20% T @ie TEERE = W ¥ 200 F s dF
o Fve e T S T | TR SR

(a) T 600 B T 400
(¢) 42130 (d) T 432.10

fareht e 3 6 T o ot w22 T E | A wAR B Iw 8 A ¥ o v e & W
% A T TR = Se 3w T i |

(ay 1794 (b) 1687
(€ 15699 (dy TS ETT

7 16 95 Fewn =% <9F & 8 i wmEe =t T 22 wie TR S 4 e aae & W e e o
figerer =Y sl a1 it 2

(a) T1B (h %16
() T2 () T ¥ HE R

6 T, 8 ferdat & sweR weR ¥ | 2 ferd, 3 wrEe % ST FAE ¢ | 4 TEH, § IEHEAl ¥
AT FOR E | 7 U g WA 2 500 FRET R, 9 e gew @ ufai S S A
it | .

(a) T 1,120 (by 1210
(¢} T 1,250 (d) T E P

o 37 s e 130 m ¥, wewnd 3 30 Jeve ¥ T el & o 4w 45 el o
TR W Sl & | SiewH @i ovars I s |

{a) 245m (b) 255m
{c) 265m (d) T A HE A

L
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95. Find the area of a triangle given two of its sides are 12 ¢m and 16 cm and the incluf
angle is 60° {in sq. cm)
{a) 483 sqem (b)  244/3 sq.em
(c) 4é&J3sqom (dy WNome of these

98, What is the largest 4 digit number exactly divisible by §8 ?
(a) 9988 . (b} 9944
(c) 9900 (d) 9999

97. What 15 the unit digit in
{6224) 1797 x (615) 316 x (341) 476 7
(e) 5 by 0
) 1 (dy 7

98. A and B are two taps, which can fill a tank individually in 10 minutes and 20 mi [
respectively. Howsver, there is a leakage at the bottom which can empty a filled tao
40} minutes. If the rank is empty initially, how much time will both the taps take to

tank (leakage is still there) ?
{a) 10 minutcs (b} 15 minutes
{c) 8 minutes {d} 7 minutes

9. I an amount of ¥ 5,86,700 is distributed equally amongst 25 persons, then how m
would each person get 7

) ¥ 37,420 (b} < 19562
c) ¥2,54,876 (dy 23468

100, A train 280 metres long is moving at a speed of 60 km/hr. The time taken by the trail
crosys a platform 220 metres long is

L (#) 35 seconds (b) 20 seconds

{c} 20 seconds (dy 25 seconds

1%1. What number should replace both the guestion mark (7) in the following question ?

W44 = 4917 .
fa) 95 (b) 76
(c) 82 (d) 54

A 26 JDD-86/1.DC




95,

97.

08,

1040,

101.

Rt rr 7 SR T ST, fred < vet w99 12 cm T4 16 om N ¥ w4
st =i 60° ¥ (sq. cm ®)

(a) 43\5 s8.cm {b) 24\@ §q.cm
(¢) 46v3sqom @ T

o TES FE 4 st 5 T = A es & got: fawfe @ S €
(a) 9988 (by 9944
{c) Y900 (d)y 9999

(6324) 1797 % (615) 316 x (341) 476 & 7ok AH TN ¥ 7
(ay 3 (by ©
cy 1 dy 7

A Ao B & Tt ¥ < Tl Za @ A 10 e o 20 e B owed € L SR S A A
Feam B o w0 40 Frre o el B S & 1 At S e wel @ e, @ e w
T g AT o 7 T R wwE H S S 7

(2) 10fFe (b 157
() 8= @ 7

;ﬁ@fﬁﬁ,ﬂﬁﬁm}aﬂwuﬁrzsaﬁmﬁﬁwﬁnﬁnaﬁwﬁtﬁimmﬁﬁaﬂmmﬁi
?

(@) 37,420 M) T19,562
€) T2,54876 d) ¥23468

s 280 Hiex Tt femet 6o fedvee B TR & i & |$Hiwnta?r%§m 220 HZT wEE
et WEER & 9 H o e |/ e ¢

(a) 359F0% (b) 20%=vE
(€} 30¥H0E (dy 25€F0E

Prefefias v H FERE o we Fees (7) % w0 T S 4 e gF iy 7
144 = 4977

(ay 95 by 76

(c) 82 (d) 84
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102,

103. The average score of three boys in Mathematics is 30. When the score of the fourth boy

104.

105.

106.

107,

The length of a rectangle exceeds its breadth by 7 cms. If the length is decreased by
4 ¢m, and breadth is increased by 3 cms., then the area of new rectangle will be the same
as the area of the original rectangle. What will be the perimeter of the original rectangle 7

(a) 40cms. {(b) 55 cms.
(c) 45 cms. (d) 50cms.

is added to the total score of the three boys, the average is lowered to 25. What is the
score of the fourth boy ?

(a) 10 by 20
© 15 ) 25

What is the 6 term in the sequence of 2, 3, 6, 11 and 18 ?
(a) 25 (b) 29
{cy 27 - (d) 31

0% of 20+ 20% of 10 =7
(a) 10% of 20 (b) 1% of 200
(cy 20% of 10 (d) 2% of 200

The half life of a radioactive element is 5 years. The fraction of the radioactive substance
that remains after 20 years is

1

(@) 7 (b) -%
1 20

) % d 75

A freight train left Delhi for Mumbai at an average speed of 40 km/hr. Two hours later
an express train left Delhi for Mumbai following the freight train on a parallel track at
average speed of 60 km/hr. How far from Delhi would the express train meet the frei
train ?

(a) 230km (b) 260 km "
(c) 240km : (dy 280km
28 JDD-86TLIDCR




102.

103.

104,

105,

106.

(a) 40t (b) 55€
(c) 45%d (@ S0
i Tzt = e & aftam w30 ¥ 1 afs fedt < e @ o o o o e =
fiyer Rem ST, ot Sfvee e 25 B ot ¥ | 5 Y e w e i o
{a) 10 by 20
(cy 15 (dy 25
St 2,3, 6, 11 797 18 1 S8 9% ¥ E 7
@ 25 ®) 29
{cy 27 (d) 31
20 %1 10% + 10 97 20% = ?
(a) 20%r10% (b) 2007%H 1%
€ 10¥20% (d) 200 % 2%
Fepafy Aot ey % anferrg 5 = ¥ 1 20 T T Weatifien v o 99 i w1 g ?
; .
@ 3 ® 3
1
© 3 @ i

107.

JDD-8/LDC/X-15 29 A

edt s et S e @ 7 S o ¥ | o ST erad F 4 I W H
o Hre w3 S | T O, & AU ST T S A % S SE W |
oo 2 i wd

o T Reeh @ gt F faw st 40 BEfveR @ oem ® gt & ) 81 HE AW U
T & e & mag # T slieem 60 T = TR ¥ YEHET 3% 9 39 ACTIE $
i et & | Freet @ Pbar ot W wi & AR & e § 7

(@) 2307 (by 260 ferit
(c) 240 Tl (d) 280 FFt




108.

109,

110.

111.

112,

113.

Four-Fifth of a number is 10 more than two-third of the same number What is
number 7

(@ 75 (b) 85
€ 70 (d) 69
A shopkeeper purchased 200 bulbs for ¥ 10 each, However, 5 bulbs were fused and

to be thrown away. The remaining were sold at T 12 each. What will be the percenta
profit ?

{a) 15 (h) 17

(c} 25 @ 13

The sum of three consecutive even numbers is 252, What is the sum of the smallest an
the largest numbers ?

(a) 158 (b) 148

(c) 168 (d) 198

Three years ago the average age of A and B was 18 years. While C joining them now,
average becomes 22 years, How old (in years) is C now ?

(a) 24 (b) 28

(€) 27 ' (d) 30

On a T 10,000 payment order, a person has choice bétw&an 3 successive discounts

10%, 10% and 30% and 3 successive discounts of 40%, 5% and 5%, By choosing
better one he can save (in 7)

(a) 200 (b) 400

{c) 255 - (d) 433
Evaluation of 8 x 82 x 85 js .
a 1 by 8
¢y 0O (d) None of these
30 JDD-S&/LDC/X



108.

109.

110.

111.

112.

113.

ot dem w45, SN TE S EREE § 10 iy I w T ?
(@ 75 (b) 85

ey 70 dy 69

U AR 200 99, T 10 T W 6 5 iR & | 9 5 7o e g %l a6 @ e R
o £ 7 == g aew T 12 i 959 5 S O S vy E, 5 @ = v w2 e 7

(a) 13 by 17
(¢) 25 (dy 13

AT T @ HEat o A 252 ¥ | 9ed St a7 werd wg w0 A 6 e 7
(a) 158 (b) 148
() 168 (dy 198

it ok g A e Bt 3% v ofte 18 o 91 1 & C ¥ W 8 W 9E Sitea 22 9 8 ST
¥ | C i aewr 3w fom ad ® 7

(a) 24 by 28
(e} 27 (d) 30

w T 10,000 ¥ Y AR 9 T = & g BEes & €9 F 10%, 10% #Hiv 30% H A
FieF T Sl 40%, 5% R 5% #i oF HaH 92 ¥ | 9o Fawey I 9w a9 B
Tl & (T H)

(a) 200 (b) 400
(c) 255 (d) 433

83 x 82 x 85 =i YedTE B &
a) 1 by §
(cy O (d) T | BETE
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114.

115,

116.

117,

118.

119.

120,

The number of 3-digit numbers divisible by 6, is

(a) 149 : (b) 166
(¢) 150 (@ 151
A clock strikes once at 1 o'clock. twice at 2 o’clock, thrice at 3 o’clock and so on. Ho

many times will it strike in 24 hours ?

(a) 78 (b) 136
(c) 156 (d) 196
In a group of cows and hens, the number of legs was 14 more than twice the number

heads. The number of cows is
@ 3 by 7
€y 12 (d) 14

A student was asked to multiply a given number by 4/5. By mistake he divided it by 4/5.
His answer was 36 more than the correct answer. Find the given number.

(a) 80 (b) 60
) 36 (A 63

The ratio of the volumes of cylinder and cone of equal radii and height is
(a) 1:3 by 3:1
&y 1Tei (dy 1:2

If a person walks at 14 km/hr instead of 10 km/hr, he would have walked 20 km more
The actual distance travelled by him is

{a) S50km () 56km
{cy 70km (d) 80km

Evaluate combination ]mﬂlm

(2) 10000 (b) 1000
) 10 @ 1
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114.

115,

116.

117.

118,

119.

123

6 8 o Hi 37 AT demat o wen &
(a) 149 (b 166
(e} 150 (dy 151

UF UEl | &9 TF &R, zaﬁ@msaﬁﬁaaﬁﬁrﬂﬁw-m&m% | T8 24 W Ho
Tepereit s =t 7

a) 78 (b)y 136
(c) 156 () 196

ﬁm?aﬁrgﬁﬁ%wwﬁfnﬁaﬁm,ﬁqﬁaﬁﬂ‘w%g@#14%?&3&@%
HEmE

fa)y 5 by 7

(e} 12 d) 14

e e W et e w445 W O T S R T | TR T T 475 & Frfore v
e | St =t e I Y 36 S A | T G W i |

{a) 80 (b) 60
fc) 36 (d) 63

mﬁwa&rwfﬂ%%ﬁmmw#mmm%
a) 1:3 (k) 3:1
G 11 (dy 1:2

T o =R 10 TR B S 14 e w5 er & e o = 20 Tt arfies =or W & |
T FI A Tt A g i :

(a) 50 (b) 56 Tl

(¢} 70T (d) 80T

Fitarter 100C, o et wifa | ¢
(a) 10000 (hy 1000

{cy 10 (@ 1
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HUE - IV
syraT itewT ; R

fordwr . Freriefiam e @t weeE O T WA (121 | 125) & @ S

WTElFRTeT 5 a1 9 A HE & o s F W T a1 | 38 g gull i o
3T 9HT T T YRIT B w9 W e W, g F A fed vde @t s | w5 e
& | TOF S T A T S GO ofi g # s w e e | uw B TR s at
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Section-V

Test of Language : ENGLISH
Directions : Read the passage carefully and choose the best answer to each question out of the
four alternatives :

Today perhaps your only association with the word ‘Polio’ is the Sabin Oral Vaccine that
protects children from the disease. Fifty-five years ago, this was not so, The dreaded disease,
which mainly affects the brain and the spinal cord, causes stiffening and weakening of the
muscles, crippling and paralysis — which is why I am in a wheelchair today. If somebody had
predicted, when [ was born, that this would happen to me, no one would have believed it. | was
the seventh child in a family of four pairs of brothers and sisters, with a huge 23 year gap
hetween the first and the last. T was told that, unlike the others, 1 was go fair and brown-haired
that I looked more like a foreigner than a Dawood Bohri. 1 was also considered to be the
healthiest of the brood.

161. In this passage, the word ‘brood’ refers to
(a) polio victims (b) foreign children
(¢c) children in the family (d) Indian children

162. In his childhood, the narrator said “more like a foreigner than a Dawood Bohri”. This
was because he was

(a) aforeign child (h) avery healthy boy
(¢} tall and smart {d) fair and brown-haired

163. The narrator was the seventh child in a family of
(a) 8 children (b) 16 children
(c) 23 children {(d) 4 children

164, In this passage, the narrator is a patient of
(a) heart disease (b) polio
(c) paralysis (d) nervous weakness

165. In his childhood, the narrator was
(a) aweakling {b) very healthy
(¢) tall and slim (d) short and stout

JDD-B6/LDC/X-15 41



Directions : Pick out the correct alternative that completes the sentence which is changed
into an indirect narration.

166, She said to me, “Are you going to market 7

She enguired of me :
(a) Iam going to market. - (b) 1was going to market.
(c) if [ was going to market. (d) if I had been going to the market.

- 167. Kamini said to me, “Why did not you change your clothes 7”
Kamini asked me : '
(a) why Ihad not changed my clothes.

(b) why I did not change my clothes.

(c) why I would not change my clothes.

(d) why I have not been, changing my clothes.

Direction : Fill in the blanks with appropriate prepositions.

168. Suddenly she turned away the window and stood the glass.
(a) from; to (b) from; before
(c) off; near (d) with; to
169. She left four o'clock the morning.
(a) with; on {b) about; in
(c) at;on (d) on;in

Directions (Q. Nos. 170 & 171) : In the following sentences, for each italicized part three
substilutions, are given. If one of them (a), (b) or (c) is better than the italicized part, that
will be your answer. If none of the substitution improve the sentence, the answer will be
(d). Find the correct choice.

170. They insisted to go to Kanyakumari.
(a) insisted for going (b) insisted going
(c) insisted on going (d) No improvement

171. 1am not into the right frame of mind to start discussing money.
{a) inthe right (b) of the right
(c) with right (d) No improvement
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172. Priya is not for this kind of a job. (Fill in the blank)

{a) cutout (b) cutthrough
{c} cutup . (d) catin
173. 1 cannot it to you right now; tomorrow we will discuss about it. (Fill in the
blank)
(a) demand {t) disturb

(c) worry (d) explain

Directions : In the following questions each passage consists of six sentences. The first and
the sixth sentences are given as 8, and S, The middle of the sentences in each have been

temoved and jumbled up. These are labelled P, Q, R and 5. You are required to find out
the proper sequence of the four sentences.

174. 8, : In 1956, Martin Luther King led a boycott of public buses in Montgomery,

US.A.

P : The US. Supreme Court ruled that racial sagregatic-n on public transport was
unlawful,

Q : A vear later, in spite of amrests and torture, the boycott was crowned with
SUCCEsS.

R : For the first time in the history of America, Negroes got non-segregated bus
travel.

8 : Yet, the blessing of the motor car is not without disadvantages.

8, : However, in the modem age economic ctisis, a personal car is an expensive

. blessing.

The proper sequence should be :

(a) QFPRS {(b) SPRQ

ic) SPQR {(d) QSPR

175. §, All planets are satellites.

P For instance, Ganymede, the main satellite of Tupiter is h-igger than Mercury.

Q However, all satellites are not plansts.

R But Ganymede is only a satellite, while Mercury is a planet.

S Most planets are bigger than the satellite, but not all.

S : Itisasatellite of the Sun but still a planet.

(a) SPQR (b} QSPR

(¢) QRSP (d) OQSRP
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Direction ; Choose the word that best expresses the meaning of the italicised word.
176. An officer must know how to Aandle his men,
() mampulate (b) manage

(c) control (d) discipline

177. One must not eat anything with grubby hands.

(a) unprepared (b) silly
{c) rough (d} dirty
178. More effective measures should be adopted for the conservation of forests in India.
{a) protection (b] cultivation
(c) propagation (d) supervision

Directions : In the following sentences, for each italicised word, four substitutions opposite
in meaning to the italicised word are given. You are required to select the
substitution that best express opposite meaning of the italicised word.

179. A conceited person is seldom liked.
(a) poor {(b) lonely
{(¢) humble (d) scholarly

180. The judge thought that the offence was deliberare.
(a) negligible (b) casual
{¢) unintentional (d) legitimate

181. The task assigned to him was arduous.
(1) absorbing (b) good
(c) plain ' (d) easy

Directions : Choose an alternative which can replace the given words or sentences so as to
communicate the same meaning.

182. The study of Mountains.

(a) Anthropology (b) Topography

(c} Orology (d) Geology
183. One who believes that pleasure is the highest good.

(a) Epicure {b) Celibate

{c) Hedonist {d) Snob
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Directions : Choose the alternative which best express the meaning of the given idiom /
phrase.

184, To take a fancy to
(a) tofallinatrap (b) to defy
(c) remove restrictions (d) inventby thinking

185. Look down upon
(a) impossible (b) despise
(¢} eneourage {d) before

Directions : Choose the correct word out of the four responses to complete the pmverb-,

186, Diamond cuts

(a) iron (k) gold

(c) silver (d) diamond
187. Half a loaf is better than no

{a) meat ' (b} water

(¢) milk (dy bread

Directions : Choose the correct meaning of the foreign words and phrases out of the four

responses (a), (b}, (c) & (d).

188. Adinterim
(a) finally {(b) ultimately
(¢} unanimously {d) in the mean time

189, vis-a-vis
(a) similar (b) face to face
{c) conirary to the fact (d) ingood faith

Directions : In each of the following guestions, find out which part of the sentence has an

etror. I there 1s no mistake, the answer is ‘Mo error’.

Geometry and Drawing are more easier than Geography and Social Studies.

P @ x ) h ()
Mo error
(d}
The recent census tells us _that the population of Calcutty
191. @) '§ (b) f
ig greater than any other town in India. IND SITor
(c) (d)
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192, Choose the one which is grammatically Wrong.
{a) He carried little Meenu and T on his shoulders.
(b)  All that he said had no effect on me,
(c) Those who did this thing should be punished.
(d} It was I that gave away the prizes.
193. Choose the one which is grammatically correct.
{a) Ihave not and shall not bear this trouble.
(b} Running down the street, the clock struck ten.
(¢}  He lost not only his ticket but also his luggage.
{d) Iam very obliged to you.
Direction : Choose the mis-spelt one.
194, (a) Allotee (b} Almighty
(c) Allright (d) Altogether
195. (a) Goverment (b) Professional
{¢) Grammar (d) Introduction
Direction : Pick out the word in each of the following questions that is different,
196. (a) anthology (b) dicticnary
(¢) thesaurus (d} encyclopaedia
197. (a) rejection _ {(b) selection
{¢) promotion (d) appointment
Direction : Pick out the comectly spelt word.
198. (a) indiginous (b) indigenous
5 {c) indegenus (d) indigenus
199. (a) intelegencia {b) _ intelligentsia
(c} inteligensia (d) intelligencia
200. (a) enterprencur (b) entrepreneur .
(c} entraprenuer (d) entrapreneur
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INSTRUCTIONS TO CANDIDATES

it & fong

- This booklet contains 48 pages.

Piease check all the pages of the Booklet
carefully. In case of any defect, please ask
the Invigilator for replacement of the
Booklet.

Each question or incomplete statement is
followed by four alternative suggested
answers or completions. In each case, you
are required to select the one that comrectly
answers the question or completes the
statement and blacken [@)] appropriate oval
{a), (b), (c) or (d) by Black/Blye
Ball-point pen only against the question
concerned in the Answer-Sheat,

(For V.H. candidates corresponding oval
will by blackened by the scribe)

There is only one correct answer to esach
question. You should blacken [aw] the oval
of the appropriate column, viz, (a), (b}, (e}
or (d) If you blacken [@] more than one
oval against any one question, the answer
will be treated as wrong, If you wish to
cancel any answer, you should completely
erase that black mark in the oval in the
Answer-Sheet, and then blacken the oval
of revised response,

A machine will read the coded
information in the OMR Answer-Sheat. In
case the information is incomplete/
different from the information given in the
application form, the candidature of such
candidate will be treated as cancelled.

You are not required to mark YOUr answer
in this Booklet. All answers must be
indicated in the Answer-Sheet only.
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